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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVl ETcl’, 'setVI fgRec', 'setVI VN,
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forEQ4AW_W2
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EQ4AW W2, Day=24 (2025-06-16)

V1, VE2ERV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

340 - 400

281

80
0.4 - 200
108
0.2 1
I 00 00

FRV (ml d-1)

e
o

= T

o
~
1
o
~
FRV (ml plant—1)

optEC0=2400. 0, setECB=1920

optPHO0=6. 5, setPHB=5. 8

©
N
1

e

TS
iy
o
=}

cumET (ml/plant)

[« -]

T
wW
o
o

T
N
o
o

ET (ml/hr/plant)

@ @ o D ——
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
S 20 2 I e I I e e e e S D A D R A A A A

]
I
1
I
60 - ByWoFll\/ @D24 01:34: ET=281 Fg=300.0 Ro=8.0 o — 9@ e ® o
]
I
I
I
1
1
1
|

/
T
o
o

o

0.6 1

0.4+

0.2+

0.0
800 7

600 -

400 ~

200 -

\ A A WarRing: "PPFD_obs’] is missing
0

25 A

20 A

15

rning: col “obs/, "To obs'] is missing

10

80 A

60

Warning: lcol ['RH obs’, 'RHo obs’] is mi

0.0 0.2 0.4 0.6 0.8 1.0






EQ4AW

BE) | GEEATC (F)) | EBE (EAH/v) | ERaE (/R | RS TR
09:00 80 70.0 0.122 FH| 1{Ri&@09:00 Fzh (FKF{EEEE)
2it| 80.0 (k) 70.0 32 KEC: 1780, PH: 5.8

MERRYERE STHAERS (56.0 : 42.0), ATEEKKREEZRME
EORGEB R R IR FE AR (80 vs 135.0))

ZRIASERRIERE42. 0 ml.

FERI IR A K 3E&PH 5. 800000000000001

REREEBIEC (1735.0) 5FMEC (2170.0) REK K, BHE
FEIKRECE (2170.0 vs 3193.0)Rs

FREVEIN S K KEC 1783.0



EQ4AW_W2, Day=23 (2025-06-15)

60

40 -

20 -

25
El 20‘

15 A

VI, VG*BRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
330

Warning: lcol [FVI',| "FVO’'] missing

=

T

IS
o

T

N
o

118 3

0.8 A

0.6

0.4+

0.2~

0.0

Warning: lcol ["WC1',  "WC2'] missing

1900

1800 ~

1700 ~

ECB*10%
ECC

optEC0=2229. 0, setECB=1780

=

6.5

6.0 -

5.5 1

PHB*10%
PHC

optPHO=6.5, setPHB=5.8

200 -

150 A

100 A

ET (ml/hr/plant)

a1
o
1

208

&

]
Bylnit @24 01:34: ET=379 Fg=480.0 Ro=117.0

0 1 2 3 4 5 6 7 8 10 11 16 17 20 21 22 23

H ;"""""'

ES
5]

B SI EE R R R R R BRI BRI NS S A EER

150 A

100 A

ET (ml/hr/plant)

a1
o
1

208

&

ByEt @D23 19:30: ET=235 Fg=368. 0 Ro=nan

S —— —
0 1 2 3 4 5 6 8 10 12 | 13 16 | 17 | 18 23

KM | KM | Kl [ Kifg [ Kl [ KFl [ K GHNEEZRS NG NS GHNEEZRS %=

150 A

100 A

ET (ml/hr/plant)
(&)}
S

o

]
ByWoFy @D24 01:34: ET=133 Fg=70.0 Ro=0
I

= == ———
3 [ 4[5 [6

o
o
1

X BB ESIESE R BRI DN

>l_
3

K A

0.6

0.4+

0.2~

1500 4
1000 -

500 A

20 -

15

70

—_—
o | _obs
—@— PPFD_obs

A

—_ T
°
°

Warning: lcol ['RHo obs’] is missing

T
o

T
[=2]
o

FRV (ml plant—1)

T
N
o
o

FRV (ml d-1)

T
N
o
o

- 400

T
(=2
o
(=}

cumET (ml/plant)

T
e
o
o

T
N
o
o

- 600

T
e
o
o

T
N
o
o

cumET (ml/plant)

- 600

T
e
o
o

cumET (ml/plant)



14.0 ~

13.5 4

13.0 A

12.5 A

12.0

11.5 ~

12.

12.

12.

12.

12.

12.

12.

M_W

T
500

T
600

T T T
700 800 900

m=675,m FV0=0

30 A

25 A

20 -

15

10 ~

05 ~

00 ~

—— MW

T
676

T T T
678 680 682

m=930,m FV0=0

T
684

14.3 A

14.2

14.1

14.0

13.9 A

13. 8

—o— MW

930

935 940

m=475, FV0=0

11. 50 -

11. 45 A

11. 40 -

11. 35 A

11. 30 -

—0—

M_w

T
475

4é0 455
m=725,n FV0=0

13.2 A

13.1 4

13.0 4

12.9 A

12.8 4

12.7 A

12.6 A

——

M_W

T
725

T
730 735

11.

11.

11.

11.

11.

11.

11.

13.

13.

13.

13.

13.

13.

13.

m=565, FV0=0

80 A

75

70 -

65

60

55 -

50 A

—0—

M_W

T
565

5;0 5%5
m=780,n FV0=0

—0—

M_W

780

T
785 790

11.

11.

11.

11.

11.

14.

13.

13.

13.

13.

13.

13.

m=620, FV0=0

90

85 -

80

75 -

70 A

—— MW

T
620

655 650
m=850,n FV0=0

1T —e— mw

T
850

T
855 860




hour

100

6:45
80
7:45
60
9:30 - 40
20
11:40
1 1 1 1 0
% & & B XS B
FFLSIEL,




EQ4AW

BYiE) | GEEBERTIC (RD) | EBE (BAH/K) | BREE (B/R) | X8 ERF

06:45 80 60. 0 0.105 F| Ri%e06:45 Fzh (KRPBHEDSE)
07:45 80 60.0 0.105 Z| {Rige07:45 Fz) (KREEZEHE)
09:30 80 60.0 0.105 FE| 1BRi%@09:30 F3h (kPB{EREE)
11:40 80 60. 0 0.105 FA| {Ri&e11:40 Fzi CGRBEEE)
23t 320.0 (4%) 240.0 3B FHKEC: 1710, PH: 5.8

FEARHLEBE STAERSF (56.0 @ 42.0), AREKRBERE
R R IRAR B Y (80 vs 115.0))

ZRIASERRIERE42. 0 ml.

TESKRFMFEARMBIZRE, L &FHRECH 7 /1800, 1770, 2260, REIK
RIS K #E%PH 5. 800000000000001

RMEREBIEC (1774.0) 5FMEC (2257.0) REK K, FRE
FHEIHECE (2257.0 vs 3570.0) R

FRAVEIN S RFHKEC 1714.0




EQ4AW_W2, Day=22 (2025-06-14)

O s~ e e e e e e S e B I — L 800
V1, VB1RRV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET
- 600 —
40 7 448 f
330 36 | 400 E
20 4210 31 >
194] 50, &
I18 Warning: lcol [FVI',| "FVO’'] missing 68 I
0 = i -0
¢ v ———— [——[——(——————— [ [ . — M -—Vl-feoA
FRV maxM T
_25- 8 p '3 B 1 1 1 2
= - 40 5
= 20 A =
15 - 20z
110 0
4
0.8 -
0.6 -
0.4
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
2000
optEC0=2143.0, setECB=1710 —¢  ECB*10%
® ECC
1800 ¢ 3¢ Se—>¢ 3¢
® ¢ ¢ ) o r
1600 -
°
° A
6.5 OptPHO=6.5, setPHB=5.8 —>—  PHB*10%
' ° o o ° ° ® PHC
e o
6.0 - ¢ 3¢ 3¢ >
5.5
Bylni:t @D24 01:35: ET=477 Fg=560.0 Ro=139.0 4 800
2 150 - i -35: . . 2
= 1 - 600 =
o 1 o
X 100 - i AN
< 1 - 400 E
E i =
= 90 1 : -200 §
b o |
i - P — —

015 1 2 3 4 5 6 7 ) 9 [ 10 11 |12 [ 13 ] 14 [ 15 ] 16 | 17 ] 18 [ 19 ] 20 [ 21 | 22 | 23 goo
S50l B | R | B B2 8222|8282 B |B2122] B | M | A | B [ 0m|[ Al m| Pm| Fm | Fm | T ] Rm] o o
c 1 c
2 ByEt @22 19:34: ET=332 Fg=336.0 Ro=nan ! - 600 =
X 100 - : ~
< 1 - 400 E
— 501 I - 200 §
= p—o—o—o—o—o : °

0 Py o a PS . M 1 0

0 1 2 3 4 5 6 7 ) 9 [ 10 [ 11 [ 12 [ 13 [ 14 [ 15 [ 16 [ 17 [ 18 [ 19 [ 20 [ 21 [ 22 [ 23 | o0
= 150 4 A5 g | £ z S E | E z FA [A A FA FA [A BA [/ | BB | KM || m | DF|Dm || A o~
c 1 c
= ByWoFy @24 01:35: ET=194 Fg=240.0 Ro=13.0 - 600 =
X 100 - i AN
< 1 - 400 E
3 | .
— 501 i - 200 5
- —e—-o—o—e—o °

|
WOt T2 T3 13151567 0
08 A5 g | £ z S E | E z FA [A A FA FA [A BA [/ | BB | KM || m | DF|Dm || A
0.6 -
0.4
0.2 -
1808 3

750

500 A

250 -

—_—
() | _obs
—@— PPFD_obs

[} RH_obs-rning: col ['RHo_obs'] is missing




12.75 -

12. 50

12. 25 A

12. 00 ~

11.75

11. 50

T
500

660 760 860
m=675,n FV0=0

T
900

12.2 A

12.1 4

12.0 A

11.9 4

11.8 A

——

M_W

675

6é0 6é5
m=930,n FV0=0

12.8 A

12.7

12.6 A

12.5 4

12.4 A

12. 3 4

——

M_W

930

935 940

m=475, FV0=0

11.70 A

11. 65 A

11. 60

11. 55 A

11. 50

—o—

M_W

T
475

4é0 4é5
m=725,n FV0=0

12. 4 A

12.3 4

12.2 4

12.1 4

12.0 A

——

M_W

T
725

T
730 735

11.

11.

11.

11.

11.

11.

11.

12.

12.

12.

12.

12.

12.

12.

m=565, FV0=0

80 A

75

70 -

65

60

55 -

50 A

——

M_W

T
565

5;0 5%5
m=780,n FV0=0

40 ~

35 A

30 -

25 A

20 -

15

10

——

M_W

780

T
785 790

12.

11.

11.

11.

11.

12.

12.

12.

12.

12.

m=620, FV0=0

——

M_w

T
620

655 650
m=850,n FV0=0

——

M_W

T
850

T
855 860




hour

7:45

11:40

14:15

100

80

60

40

20



EQ4AW

BYiE) | GEEBERTIC (RD) | EBE (BAH/FK) | BBREE (BF/R) | X8 ERF

06:30 140 60.0 0.105 [Z=| 1BRi%e06:30 Fzh (KREEEE)
07:45 140 60.0 0.105 [Z=| 1Rige07:45 Fzh (KREAEEE)
11:40 140 60.0 0.105 FE| 1BRi%e@11:40 Fz1 (kBERSE)
14:15 140 60. 0 0.105 FA| {Ri&e14:15 Fzi CGRBEEE)
23t 560.0 (4%) 240.0 32 F%KEC: 1650, PH: 5.8

HREHERESTEAEAT (163.0 : 125.0), AJEEKEREERE
EORGEB AT R IR ERVE Y (240 vs 115.0))

PRIAEBRIERE125.0 ml.

REXRFEREH AR E, i Kt iRECSH 5771800, 1830, 2330, HEKK

RIS X HE%PH 5. 800000000000001

FE X 1t Bl IRECER R k.

REXREBIEC (1826.0) 5FMEC (2408.0) REKK, BFRE
H#[ERECE (2408. 0 vs 3440.0) RS
BRI S R REC 1646.0




EQ4AW_W2, Day=21 (2025-06-13)

O e e e e e e e e p eyl L 800
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 719
40 7 35 —6007_1:
L 400 E
_ 28 >
20 21418 210 o0 B
I0 II Warning: lcol [FVI',| "FVO’'] missing I18
0 — -
301 mmm v S 1800
25 - FRV maxM | 150 TE'
— ©
. ks
=20 L 100 ©
T T T e e e =
s’ N A ——— _50 E
10 = 1 1 1 1 -
—H ; 0
4
0.8 -
0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
2808 ®
1 optEC0=2057.0, setECB=1650 —¢  ECB*10%
. ® ECC
1800 - oy W 3¢ * - 3¢ X
° °
16004 e
1400 - °
°
6.5 4 optPHO=6.5 setPHB=5.8 —¢ PHB*10%
‘. ® . . A ® PHC
°
6.0 - O 3¢ 3¢ 3¢ 3¢ X
5.5
, 800
5 150 4 ByIni:t @D24 01:35: ET=359 Fg=350.0 Ro=12.0 t —
= ! - 600 £
e i e
£ 1007 ! - 400 £
E i 5
— 901 I - 200 E
(AN : o
0 p—ma Lo 800
0 1 2 3 4 5 6 7 ) 9 [ 10 11 |12 [ 13 ] 14 | 15 ] 16 | 17 ] 18 | 19 ] 20 [ 21 | 22 | 23
S 150 - 3] [A A FA FA [A A FA 52 NG IR s s s R G s A s s A s A s ER S EZH XS o~
£ ] L 600 €
% ByEt @D21 19:20: ET=369 Fg=535.0 Ro=nan T | @ o i:_
E 100 7 ! | 400 £
= ! & © —
_ 50+ i - 200 ‘£
1
- b o —& ! 0
0 o 800
0 1 2 3 4 5 6 7 ) 9 [ 10 11 |12 13 ] 14 1516 17 ] 18 19 ] 20 21 | 22 [ 23
EIR O LI N N I 0 3 3 L L G0 ) I 3 [
= ByWoFv @D24 01:35: ET=228 Fg=240.0 Ro=5.0 =2
£ 1 £
£ 1007 ! - 400 £
C ' ~—e & &
O —8—8—8 |, 3
” I 3
L
MY S - —-a— \r/l\ 0
0 1 2 3 4 5 6 7 ) 9 [ 10 11 |12 13 ] 14 15 ] 16 [ 17 ] 18 [ 19 ] 20 21 | 22 [ 23
084 FA [A A FA 3] EREARERSEZAEZS N FA FA [A A FA BH |\W|Z=|5=| B 5 RERS
0.6 -
0.4
0.2
0.0
1500 A1 —_— 4
o | _obs
1000 —@— PPFD obs
RH
RH_obs-rning: col ['RHo_obs'] is missing
4
® > ® VPD




13

12

11 4

10 ~

——

M_w

T
600

T T
800 1000

m=560,m FV0=0

13.0 A

12.5 A

12.0 A

11.5 ~

11.0 A

10. 5 ~

——

M_W

560

5é5 5%0
m=890,n FV0=0

12.10 A

12. 08 ~

12. 06

12. 04

12. 02

12. 00 ~

M_W

890

895 900

m=525, FV0=0

9. 50

9.48 A

9.46

9. 44 -

9.42 -

9. 40 A

—— MW

T
525

550 555
m=630,n FV0=0

13.0 A

12.9 A

12.8 4

12.7 4

12.6

12.5 A

12.4 4

——

M_W

12.5 4

12.0 A

11.5 A

T
630

6é5 6&0
m=1075n FV0=0

——

M_W

1075

1080 1085

10.

10.

13.

12.

12.

12.

m=545, FV0=0
- MW
9
04
8 -
6
5&5 560 5%5
m=700,m FV0=0
—0— MW
04
8
6
4
700 705 710

12.

12.

11.

11.

10.

10.

13.

13.

13.

12.

12.

m=535, FV0=0

——

M_w

T
555

5é0 5é5
m=780,n FV0=0

——

M_W

T
780

T
785 790




hour

7:30

13:00

15:10

100

80

- 60

40

20



EQ4AW

BYiE) | GEEBERTIC (RD) | EBE (BAH/FK) | BBREE (BF/R) | X8 ERE

06:30 90 50.0 0. 088 FA| {RRi&@06:30 Fz (kAEREEE)
07:30 90 50.0 0. 088 FA| {RRi&@07:30 Fzi (KPAIEEE)
13:00 90 50. 0 0. 088 FB| {Ri&@13:00 Fz (FAFERESE)
15:10 90 50.0 0.088 [Z=| 1BRige15:10 Fzh (REEER)
21t| 360.0 (4%) 200. 0 B UFHKEC: 1710, PH: 5.9

TERRHER 2 STEEARTRF (50.0 :

EIRGEBBHCRIZIRELZIY (70 vs 98.0))

ZRIASERRIERE36. 0 ml.

36.0), AIREKRFBERE

TESKRFMFEARMEIZE, i &FHRECH 7 /1900, 2090, 2640, REILK
RIS K HE%PH 5. 880000000000001

FE X 1 Bl RECE R R 5k .

REXREIEC (2088.0) 5FMEC (2635.0) RHEKK, BFRE
FHEHECE (2635.0 vs 3517.0) 1R
REVR NS K IKEC 1710.0




V1, V8/ERV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET - 600
40 —~
i
400 " L 400
E
20 214
160 gi5a | 200 &
Warning: lcol [FVI',| "FVO’'] missing I II1
0 0
0 C 8o
30 ¢ mmm v — ww
95 - FRV B maxM —GOI
s Yy S SR S SR Sy, SpU ", A, D" S —— A ——— S—— &
1201 - q 5 q - 40 &
= E
15 . 20 =
M Laadh . K 0 OSR - L‘-
10 S ]
1.0 0
U
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
optECO=1971.0, setECB=1710 —¢  ECB*10%
1900 - ® ECC
¢ °
1800 % ¢ ) ]
1700 4 = o o e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e s
6.5 4 - - ——  PHB*10% f
optPHO0=6.5, setPHB=5.9 ° ° ° . oo
°
6.0 - ¢ 3¢ 3¢ >
5.5 -
150
1
2 - 600 £
=100 A s
N N
= - 400 =
> ~—
E 50 o
o - 200 §
150 15 1 2 3 4 5 6 7 8 9 10T 112311411617 81921 2]2[223]°
o %n| 25|25 H FH A | BB | 25|25 Z25|25|25 126|352 25 23525252525 A | B 5] 600 2
c 1 B c
%_100- ByEt @D2019:29: ET=315 Fg=154.0 Ro=nan : -g
E ' 400 =
~ 1 =
E 50 - ' o & =
1 - 200 E
= e © e e e, o e o 3
1
150 —a——a o o a a B E— \ﬁi\ 0
0 1 2 3 4 5 6 7 8 9 [ 10 | 11 |12 ] 13 ] 14 [ 15 | 16 | 17 | 18 | 19 [ 20 | 21 | 22 | 23
) %n| 25|25 H FA [A A FA FA BH |2=|%=|XKm| A EREEREZSEZS N FA BH | K|/l | XMW 600 2
c 1 B c
%_100- ByWoFy @D24-01:35: ET=199Fg=200.0 Ro=1.0 -g
E ! —4oo§
- |
E 50- —
_ i - 200 ‘£
(AN | o
1.0 0
Qg_gﬁ %n|%nw| H FA [A A FA FA BH |2=|%=|XKm| A EREEREZSEZS N FA BH | K|/l | XMW
0.6 -
0.4 -
0.2 -
0.0
1000 < —_— | A
[ ] | _obs
750 - —@— PPFD obs
—_— T 4
30 - o T _obs
°
25 -
20

EQ4AW_W2, Day=20 (2025-06-12)

804 @ RH_obs

60

—— RH

RHo_obs

o VPD




12.

12.

11.

11.

12.

12.

12.

12.

M_Ww

T
500

660
m=700,n FV0=0

700

——

M_W

700

T T
705 710

m=475, FV0=0

207 o mw
.15 1
.10
.05 1
.00
475 480 485

11.

11.

11.

11.

11.

m=560, FV0=0
47 e M_W
3_
2_
‘I_
0_
560 565 570

11.

11.

11.

11.

11.

11.

11.

m=630, FV0=0

——

M_w

630

T
635

640




